

$x + 26 = 72$

$x = \square\square\square\square\square$

$x = \square\square$

 $\square\square + 26 = 72$

$\square\square = \square\square$

$70 - x = 36$

$x = \square\square\square\square\square$

$x = \square\square$

 $70 - \square\square = 36$

$\square\square = \square\square$

$x - 28 = 45$

$x = \square\square\square\square\square$

$x = \square\square$

 $\square\square - 28 = 45$

$\square\square = \square\square$

$60 - x = 42$

$x = \square\square\square\square\square$

$x = \square\square$

 $60 - \square\square = 42$

$\square\square = \square\square$

$43 + x = 71$

$x = \square\square\square\square\square\square$

$x = \square\square$

$43 + \square\square = 71$

$\square\square = \square\square$

$x - 26 = 64$

$x = \square\square\square\square\square\square$

$x = \square\square$

$\square\square - 26 = 64$

$\square\square = \square\square$

$65 - x = 28$

$x = \square\square\square\square\square\square$

$x = \square\square$

$65 - \square\square = 28$

$\square\square = \square\square$

$x + 32 = 80$

$x = \square\square\square\square\square\square$

$x = \square\square$

$\square\square + 32 = 80$

$\square\square = \square\square$